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#h R FE = X(m) Y(m) e LS X(m) Y(m) R Fe = X(m) Y(m) e ELE X(m) Y(m)
Y-1 54430.50 | -32963.54
Y=2 54422.60 | —32961.26
Y-3 54420.50 | -32960.66
Y-4 54418.39 | -32960.05
Y-5 5441571 | —32958.83
Y=6 54413.69 | -32957.13
Y7 54408.89 | -32951.49
Y-8 5440551 | —32943.21
Y-9 54404.02 | —32936.67
Y=10 54415.29 | —32935.37
Y-11 54418.80 | —32935.98
Y-12 54423.42 | -32936.79
Y-13 54425.07 | -32937.35
Y-14 54426.09 | -32937.68
Y-15 54427.70 | -32938.49
Y-16 54433.05 | -32941.81
Y=17 54440.38 | -32946.38
Y-18 54446.41 | —32951.99
Y-19 54435.94 | -32964.03
Y-20 54445.45 | -32874.03
Y-21 54434.67 | -32874.69
Y-22 54432.41 | -32874.83
Y-23 54426.69 | —32874.59
Y-24 54420.01 | —32874.18
Y-25 54416.71 | —32873.97
Y-26 54422.31 | -32860.06
Y-27 54426.60 | -32839.56
Y-28 54435.87 | -32843.32
Y-29 54442.64 | —32846.07
Y-30 54452.09 | -32849.90
Y=-31 54446.09 | -32866.39
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R s X(m) Y(m) RS X(m) Y(m) RS X(m) Y(m) MRS X(m) Y(m)
R-1 54424.82 | -32961.90
R-2 54422.60 | —-32961.26
R-3 54420.50 [ —-32960.66
R-4 54420.31 | —32960.61
R-5 54418.19 | —32953.71
R-6 54420.01 [ —-32942.59
R-7 54430.52 | -32940.24
R-8 54433.05 | —32941.81
R-9 54435.37 | —-32943.25
R-10 54434.18 | —-32947.78
R-11 54427.56 | —-32959.25
R-12 54439.71 | -32874.38
R-13 54434.67 [ —-32874.69
R-14 54434.08 | -32874.72
R-15 54435.98 [ —-32863.42
R-16 54442.50 | —-32846.01
R-17 54442.64 | —-32846.07
R-18 5444713 | -32847.89
R-19 54439.82 | —-32864.55




